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101.

102

103.

(ANDHRA

An equilateral triangular plate of base
b and height h is immersed in water such
that the base is on the surface of the
liquid. The centre of pressure below the
water surface is at a depth of

3h h
@ 4 (b) 3

h 2h
Y (d) 3

Bernoulli's theorem is based on the
principle of conservation of

(a) Mass

~(b) Momentum
(c) Energy (d)  Force
The piezometric head is the summation
of
(a) Velocity head and pressure heaf’d&
(b)  Pressure head and el: ati |
(c) Elevation head and v“é“i@x ty b hea &
(d)  Velocity };;gad pressu‘f“e lilead and

elevatmn *head
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105.

106.

107.

108.

109.

(b)

The discharge through a rectangular

notch varies as
(a) H fie

(c)

(b)

HL‘HZ (d) HS;’Z

A pipe of diameter D and length L is
carrying a fluid with a velocity V. If the
density of fluid is p and the dynamic
viscosity is , then the Reynold's number is

60 and 300
(c) 300 and 600
(d) 600 and 1000

The hydraulic mean depth of an open
channel (A : cross sectional area, T : top
width and P : wetted perimeter) is given by

(3
P : A
{a) A (b) T
A A
(b) P (Fi} )

The open channel section is considered
as most economical when
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110.
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(@) The section with minimum
roughness coefficient

(b)  The section that has a maximum
area for a given flow

(c) The section that has a minimum
wetted perimeter

(d)  The section that has a maximum
wetted perimeter

A rectangular section will be most

economical when .

{a) Depth of flow is equal to the
bottom width

(b) Depth of flow is equal to half the
bottom width

(c) Depth of flow is equal to 1.5 times
the bottom width

(d)  Depth of flow is equal to twice the
bottom width

Delta (A) in ecm, Duty (D) in hectare/
cumec and Base period (B) in days are

related as

G A 864 B

a A=—p—
864D

{a&le? irrigation system is suitable when
The land gradient is steep and the
soil is easily erodible

{b)  The soil is having low permeability

(c) The water table is low

(

d)  The crops to be grown have deep
roofs
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113. An isohyets is a line joining points of
(a)  Equal temperature
(b) Equal humidity
(c) Equal rainfall depth
(d) . Equal evaporation
114, Intensity of rainfall is
(a) Total rainfall in a period
(b) Rainfall per unit area
(c)  Volume of water collected per unit
' time
(d)  Depth of rainfall per unit time

115. Ryi{e's formula for measurement of
velocity of flow in streams is given by

@ Q=CA%® () Q=C. A?’f?

@ Q=CA™ @ Q=C A‘fﬁ
116. Alonga phreatlc line inan earth dam,__:w

(a) The totalwlj};eag:'lql.

: ‘&ﬁstant but not

e} ¢ wThe pressu?é head is everywhere
Ay _The pressure head is constant but

.
2 not zero

117 In case of gravity dam the main
overturning force is

(a) . Self weight of the dam
(b)  Wind pressure
(c) Water pressuré
(d) Wave pressure

118. Balanc.e depth of cutting of canal is
(a) Half the total depth of a canal
(b) Half of full supply depth

{c) The maximum out that an
excavator can take

(d)  Where volume of cutting is equal
to volume of filling
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119. In Lacey's regime theory, the velocity,
of flow is proportional to
(@) Qf b)
) (QfA)Ye (d) (QfAYe
120. An aqueduct is a cross drainage work'in
which
{a) A canal is carried over the
drainage channel
(b) A drainage channel is carried over
the canal
(c) Both drainage channel and canal
are at the same level
(d) A canal is carried below the
highway
121. Poisson's ratio is defined as the ratio of
(a) Longitudinal stress and
' longitudinal strain
(b) Lateral strain and longitudinal
strain.
(¢) Lateral stress and lognitudinal
stress
(d) Lateral stress and 1ongltug1ma1
strain
122,

Factor of safety is the ratio c of

(a)

(b)

(c) Ult1mate load to yleid load
(d) Wcri{q strQSS to yield stress

,;Solld umfow{m@b‘é*r of cross sectional
S area Aand leﬁgth L is hanging vertically
rom 1ts upper end. lf W is the total

-§ éﬁashaty the elongation of bar due to
*’f “self weight is

124.

125.

126,

127.

supports,

e [ 15

A square bar of 51de 20 mm and length
2m is subjected to a pull of 10 kN. If
the modulus of elastlclty of the material

of the bar is 2 x 10° N/mm?.The
clongation of the bar is

(a)  4.0mm (b)
(¢) 0.5mm (d)

The relationship between Young's
Modulus (E), Modulus of Rigidity (G)
and Bulk Modulus (K) in an elastic
material is given by the relation

1.0mm

0.25mm

R 39KK+GG
] E= BSKKJ? G
() E wg%{%ee

For a_giﬁﬁply supported beam on two end
the bending moment is
maximum

(a)  Usually on the supports
(b)  Always at mid span
(c)  Where there is no shear force

(d)  Where the deflection is maximum

A concentrated load P acts on a simply
supported beam of span L at a distance
L/3 from the left support. The bending
moment at the point of application of
the load is given by

) = -
(a 3 : 3

{ PL ” 2PL
c) 9 ) 5

% <;: i-.-;\. ei W‘I—- WL
@ © SaE

e 2WL

CI D TaE
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128.

. 123,

130.

131.

- 3WL?
(a)

8
) wL?
(c) -

The point of contraflexure is a point where

Shear force changes sign

(b)  Bending moment changes sign
(c) Shear force is maximum
(d) Bending moment is maximum

The maximum B.M caused on a simply
supported beam subjected to two equal
concentrated load W/2 spaced at equal
distance (L/3) over the span is

WL 5 WL
S S
WL 3 WL
T o &

A cantilever beam of ’1ength L is
subjected to a uniformly distributed load
of w per m run for half of span from the
free end. The maximum bending
moment at the support is

The flexure. Wf:orm ula (vﬁaih usual
notations) f@F sm;tple theory»'of bending
is glven by “ee

M s _E
I v R
M 1 o
E y E

A cantilever beam of length L having T
shaped cross-section carries uniformly
distributed load. The maximum
magnitude of the bending stress occur.

133

134.

.....

136.
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At the top of cross-section

{b) At the Junction of flange and Web
(c) At the mid-depth point
(d) At the bottom of the section

The section modulus of a rectangular

beam of width 100 mm and depth 200

mm in mm?® is

(a) 0.33x10° (b) 0.66 x 10°

(c)

A beam of circular cross section of
diameter D is subjected to a shear force E.
The maximum shear stress in a section is

1.5x10° (d 3.0x10°

M_gwe‘ﬁl shear force across a
_ )gaii section, the mtens;ty of

Extreme fibres

(b) -Centroid of the section

(c) Atthe junction of the flange and
the web, but on the web

(d) At the junction of the flange and

the web, but on the flange

A beam of rectangular section having

cross sectional area 100 mm? is

subjected to a transverse shear force of
6 kN. The magnitude of the maximum
shear stress developed in the section is

90 N/mm? 80 N/mm?

(a) (b)

60 N/mm? 45 N/mm?

(d)

(c)

Tpmr .:?;“:::I {Q uest i on P a P er-2015 ( AP )}‘J‘-- s R
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137. 142.

138.

139

140.

141.

The shape of the shearing stress
distribution across a rectangular cross
section subjected to tranverse loading is

(a) Triangular
(b)  Parabolic
(c)  Rectangular

(d) A combination of rectangular and
' parabolic shape

If a solid shaft or diameter d is subjected

to a torque T, then the maximum shear

stress induced is

32T ® 32T
(a'} nd? ) rd?
© 16T n 16T
. nd? ' nd®

The product of shear modulus (G) and

polar moment of inertia (J) is
(a)  Flexural rigidity
(b)  Torsional rigidity
(¢) Axial rigidity

(d) The torque which develops umt
twist per unit length

A solid shaft rotating at 150 rpm is | -
‘subjected to torque of 1500 N m ‘ﬁhﬁ”‘

power transmitted by the sﬁ tinH
@) 20% s () 0%
(€ R2i%es d =

A cant1 euerigbeam of span 2 L is

m-wsubjer‘ted to a?‘.oncentrated load of W
it % @t the free end. The maximum deflection

W L2 w3
2El (o] 3El
WL sWwi3
d
© 2 4 =5

144.

W s Vo S S i 1 07

A mmpiy supported beam of span L is
subjected to a uniformly distributed load

of W per m run throughout. The
deflection at mid span is :
1 WL* 5 WL
e b e
@ BHE O saTE
7 WL* 5 WL?
(c) @ =
384 6EI 768 8EI

A cantilever beam of span L is subjected
to a uniformly distributed load of W per
m run throughout. The deflection at free
end is

wL?

A &mplg?%ilpmgte‘d beam of span L is
subjé;cte ggg a concentrated load of W

i __at mid sgﬁ% The deflection under the
. e@ncemrated load is

145.

146.

wL? wL3

@ BE ® 3
wL3 5 WL°

d TP
© Tem 9 31 E

The radius of gyration of a circular
column of diameter D is

D
(@ D ® 35

(d)

D D
S 3

The slenderness ratio of column is the
ratio of




R R

108 srsswmunsusres
(a) Length of column to radius of
gyration
(b)  Length of the column to least
radius of gyration

(c)  Effective length of column to the
least radius of gyration

(d)  Effective length of column to least
moment of inertia

147. Euler's formula is applicable to
(a)  Short columns
(b)  Medium columns
(c) Long columns
(d)  Any column
148. The Euler's buckling load for a column
of length L fixed at one end and free at
the other end is 40 kN. If both the ends
of the column is now fixed, the Euler's
buckling load will be
(@) 40kN (b) 8O0KkN
() 320kN (d) 640 kN
149. 1f P_is Euler's load, P_is crippling load

for short column in which there is no
buckling land, P_ is the Rankine's

crippling load for a column, then

i

; w» - engfh L and Flexural rlgldlty El wlth one

4 7% El 272 El
(a) ¥ (b) 2
2 2
7 El n“ El
d
© @ 27
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151. A uniform beam of span L is rigidity fixed
at both supports. It carries a uniformly
distributed load W per unit length. The
bending moment at mid span is

WL? WL?
b
(a) 3 (b) 12
w2 WL?
2l d
(c) T (d) 94
152. A fixed beam of span L is subjected to
a concentrated load of W at mid span.
The fixed end moment induced at
support is
B Sk
a g
WL
(c) e R
153. A proppe&canfﬁ@\zet of f span 4 m is fixed

at A and‘propped atB. The beam carries
aﬁdzfomﬁyxdlﬁmbuted load of 10 kN/m
over ﬁae eritlre span. The reaction at B is

) ;QS‘kN (b) 20kN
(c) 10kN (d 15kN

A simply supported beam of length L is
loaded by a uniformly distributed load
of W per unit length over the entire span.
It is propped at the mid span so that
the deflection at the centre is zero. The
reaction at the prop is

o ' 1
(a) EWL (b) > WL
5 : 1

155. A fixed beam of span L is rigidly fixed
at both supports A and B. It carries a
concentrated load of W which is at a
distance of a from support A and b from
support B. The fixed end moment at
support A is

=] [Question Paper-2015 (A.P)]}=
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156.

157.

Wab? : Wa?b
(a) i (®) 12

Wab? Wa’b
(c) 312 (d) L2

Force in the member AB of the frame
shown in the given figure will be

W
a5°s B (:T
2 m
g .y
2 —— _
(a) Zero (b) W
§ e 3 w
© W3 @

For the pin jointed frame shown in figure,
the force in the vertical member CD is

5T
fa) 12T (tension)
by 2T {com@‘ession)
(¢) 7T (Compression)
(d)... 5T{ &t;;;.c;h *;

158««% A s:mp e p]ané "tt‘uss acted upon by a load

%:2 P at the apex A is as shown in figure.
?T?le\-axra‘ force in the member AB is

2P
AN T
N\
/ i A\ -
B8 45" ['\ 45 c
/J"r?}'ﬁ 79;93;

159.

e
o)
e

162.

- 109

J2 P

@ P (b}

i
-’1,3 P (d)
2

(c) I8 F

Which one of the following rules
ascertains the maximum permissible
eccentricity of loads on rectangular
section so that the stresses will always
be compressible

(a)  Middle fourth rule

(b)  Middle third rule

(c) Middle half rule

(d}  Middle two third rule

(c) et ‘mithm b/6

d)  Within b/8
As per the provisions of IS : 456-2000,

the (Short term) modulus of elasticity of
M 25 grade concrete {in N/mm?) can be
assumed to be

{a) 25000
(c} 3000 (d) -

(b) 28500
36000

The minimum grade of concrete to be
456-2000 for a
reinforced concrete siructure to be

used as per IS :

constructed along a sea coast is
(a) M 15 by MZ0
(c) M25 {d) M30

e o [Question Paper-2015 (AR)] [ o
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163.

The minimum area of tension
reinforcement in a beam shall be greater

than
0.85kbd i 0.85 fy
AR 1 ke
! f, P T
N 04 bd
(=} 0.04bd (ch) 3 =

The characteristic strength of concrete
i5 defined as that compressive strength
beiow which not more than

)
8

Y % of resulis fall
o} 5% of results fall
‘J(} 1 _rr '3 feSulta ;a”

i) 95% of results fall

inn the limit state design method of
concreie siructures, the recommended
partial mnaterial safety factor (y_) for

steel according to IS 456-2000 is
{a) 1.5 (h) 1.156
(er 1.00 @ 087 &

v__§_§'?§§d) 60%

essive sirain in

i 0.0015

$.0025 idy 0.015

A doubly reinforced concrete beam has
¢ffective cover d to the centre of
compression 'rv:amfcrcen"eent. X is the

weewmesrnzien fECET FIVH] Civil Engineering [Question Paper-2015 (A.P)]

depth of neutral axis, and d is the
effective depth to the centre of tension
reinforcement, The maximum strain in
concrete at the level of compression
reinforcement is

(@) C.0035(1-dYd)
(b) 0.0035(1-dYX)
() 0.002(1-dYX)
(d) 0.002(1-d/d)

169. A T beam behaves as a rectangular beam
of width equal to its flange of its neutal axis

{a) Coincides with centroid. of
reinforcement

treiss eather than concrete 'n section

e

. is known as

1

(a) Under—reinforce.d section
(b)  Quer-reinforced section
{¢) Balanced section

(d)  Economic section

171. A reinforced concrete column is
subjécted to combined action of
compressive axial force and bending
moment. if & is the least compressive
strain in the member, fy is the yield siress
of steel and E_is the modulus of
elasticity of s{eel, the maximum

permissible compressive strain in

concrete member will be

ST et =

ErEsEs s IQuestion Pe;pw 2015 {(A.P)] l
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172

173.

174.

174a.

(b) 0.002 +

(a) 0.002

£,
1.15E,

(¢) 0.0035-0.75¢,
(d) 0.0035

Minimum clear cover (in mm) to the
main steel bars in slab, beam, column
and footing respectively are

(a) 10,15, 20,25
(b) 15, 25, 40,75
(c) 20,25, 30,40
(d) 20, 35,40,75

The lateral ties in a reinforced concrete
rectangular column under axial
compression are used to

(a) Avoid the buckling of the
longitudinal steel under
compression

(b)  Provide adequate shear capacity

{c) Provide adequate confinement to
concrete :

the column

Limit state of serviceabilits
including the effects d&e _
shrinkage arﬁ F@mperature occuring after
erection of ﬁﬁrtmqns and application of

__f:;:nshes as é;‘ﬁﬁixca%?e to floors and roofs

o e

s restncted o

Span

® 200

- Span
© 950 @ 350

In case of two-way slab, the limiting
deflection of the slab is

176.

177

178.

180.

q
11

(a)  Primarily a function of the long
span

(b)  Primarily a function of the short
span

(¢)  Independent of long or short spans

{d)  Dependent on both long and short
spans

Side face reinforcementis provided in 2
beam when the depth of web exceeds

(a) 300 mm (b) 450 mm
(c) 500 mm (d) 750 mm
What is the value of minimum

reinforcement (in case of Fe 415} in a
slab?

(@) 0.1%
() 0.15%

The design depth Gﬁ ;?“
isolated column is gdverhed%y

Gy (@&‘9{,,@& i,
M”agtmum shear force

i

= .L@@hmg shear

ié) “All the above

If %4
in fiexural compression in N/mn 2 in
serviee, the modular ratio is of the arder
of

s permissible compressive sfress

280 L 280
(a) 3 G ebe (b) 4 O ehe
(c) 19 : (dy- 13

Permissible bending tensile stress in high
yield strength deformed bars of grade
415 N/mm? in a beam to be designed by

working stress method is
{a) 230 N/mm? {b) 190N/m m?

() 140N/mm? (d) 1300/mm?

==+ [Question Paper-2015 (AR oS RS
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181.

182.

183.

1&4.

A‘R’R/»Ss

A triangle is said to be well conditioned
when its angles are between

fa) 20°and 120°
) 40°and 120°
(¢} 30°and 120°
(d)  45°and 135°

The length of a line, measured with a
30m chain, was found o be 300 m.lf

the chain was 0.1m too short.The true

length of the line will be
(a) 300.1m (b) 301.0m
{c) 299.0m d) 310.0m
The line passing through zero declination
is known as

{a1} .Isogonéc line

(b}  Agonic line

(¢} Contour ling

{d) Isoclinic line __
If the FB of a line is 334° 45", Theniike
BB of a line is

If hearzng@%tine AB is 150° 40" and
cmgie @.BC is 19@*?&@;' then the bearing
S ofline BB wglj be

)  89°10
(d  29°20
If the magnetic bearing of a line is 5
48° 40" E and the magnetic declination

L . O 1} g -
at that place is 4 10 E. the true bearing

of a line is

s fECET FDH] Civil Engmeermp !QJestron Paper'—zm‘i (A.P)]

e P e i

(@) $52°50'E
b) 552°50'W
() S44°30'E
(d) S44"30'E

187. The staff reading taken on a point of
known elevation is

(a) Foresight (FS)

(b)  Back Sight (BS)

{c) Intermediate Sight (IS)
(d) Height o Instrument (HI)

188. RL of floor of a building is 100.0 m, staff
reading on the floor is 1.625 m. an_gl si_@ff
reading when it is held_ mverted x@gtj-l

bettom touching the”“ﬁé: ng Gf a hallwrsw

2.870 m, then J&ﬁf%eigbt of the CEilmg
above the flooris wﬁ

‘Mw:@

(@) mg 593@ Mww(ff:f\ 3.953 m
" % ° (@ 449%m

ik 189?{ W%ﬁbn consecutwe contour lines run close

&togéfher indicates

"{a} Steep siope” (b} Flat slope
(¢)  Gentle slope '
(d) . Inclined Surface

190. Fine adjustment of a theodolite in done
by the

(a) 'Tangen‘t Screw
(b) Clamp screw
(c) Focussing screw
(d)  Foot screws

191. An imaginary line passing through the
optical center of the object glass and the
optical center of the eye piece is

{ [Question Paper-2015 (A.P ):Jla AT AT
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i96.

192.

194.

e
S
-

i &

(a) ~ Line of Collimation
(b)  Axis of the telescope
(c)  Axis of the bubble tube

(d}  Horizontal axis

In Bowdith's rule, it is assumed that the
error is proportional to

(a}  Length of a line {L}

{b)  Square of length of a line (Lz)

(¢} Square root of length of a line
(L)

{d}  Inverse of the length of a line (1/L)}

[f N be the number of sides of a closed

traverse,
interior angles shouid be equal to

(a) (2N-4)x90°

b (ZN+4)x90°

74

©) (2N-1yx90°
d (2N+4)x90°

e

The stadia diaphragm is

probideﬂ in
theodolite for measuring . '

{(a} Elevation

(b}  Bearing

-

A tmal station is

&

”A digital theodolite

An electronic theodolite

fitted with

= T
[COHTe

An electronic tl
stadia wires

(d}  An electronic theodolite fitted with
electronic distance meier

then the sum of measured

198,

- 200.

A fluid is one which can be defined as a
substance that

{a} 1as that same shear stress al all
points
(b)  Can deform indefinitely under the

action of the smallest shear force

{c} Has the small shear stress in all
directions

{d) s practically incompressible
The unit of dynamic viscosity is

{a) N-s/m? (b)
(c) N/m? (d)

N/s-m?

Iy

Which of the foilowrﬂg t
fluid at rest? :

{a) Low pressures
(b}  Medium pressures
{c)- High pressures
(d)  Very low pressures

The flow in a pipe whose valve is being
opened or closed gradually is an example
of

(a) Steady flow
{b) Unsteady fiow
ic) Steady uniform flow

(d}  Steady zaon-unifarm flow
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